TIG TORCH 25

v/ C € ENeos7a7 (@

RoHS

Complete torch-EURO

=
frrell Torch sintig 25 8m M12x1
10J6306-36 12465 FF 2/T1G25/8m/M12x1 1
-d 10J6906-36 Torch sintig 25 4m M12x1 1
: J2A8/8 FF K/TIG25/4m/M12x1
Torch dubtig 25 8m M12x1
Epdm e 10J7306-36 12 46/% FF £/ TIG25/8m/M1 2x1 !
Torch dubtig 25 4m M12x1
U8 124/ FF 2£/TIG25/4m/M1 21 i

Complete torch-UK

Torch sintig 25 8m 3/8G
10J6307-36 12465 FF /TIG25/8m/3/8G 1

Torch sintig 25 4m 3/8G
N 1240/ FF 5/TIG25/4m/3/8G
Technical data IBHARS

AR SH Torch dubtig 25 8m 3/8G

Cooling: Water Cooled | 41753 : 7% 3/8G 10J7307-36 1R HXFF X/TIG25/8m/3/8G 1
Duty100%DC: 250AMP | 557 100%£5 £ % : 250AMP 222 (04790736 Torch dubtig 25 4m 3/8G ;
Duty100%AC: 220AMP | 32 7100% & 2 5 : 220AMP oy DG CATL T

Electrode Size: 0.5-3.2mm; B#%R<t:0. 5-3. 2mm
I

10J6907-36

10

* Complete torch-EURO

Torch four switches 25 4m M12x1/leather
10J7106-36 TR /T 2/ TIG25 /M1 21/ 1P !

d: 1047406.36 Torch dubtig 25 8m M12x1/leather

Leather

1848/ 5F 2/ TIG25/8mIMA 2x 1/ 4 5 [

Torch dubtig 25 4m M12x1/leather

10J7506-36 KA/ FF 2/ TIG25/4mIMA 2% 1/ 4 5

1
1/4G

Torch four switches 25 8m M12x1/leather
SO &2 AR/ F 3£/TIG25/8m/NM 211 3 !
m

Leather




ONSUMABLES TIG 9-20-24

V| C € Encosrat V| C € Eneosrat
N T A R T BN

Collet body ® 2.4mm TIG24-24W Alumina cup gas lens GR7 TIG24-24W
|GF0009-24  24CB332 g 52 g 0 2 4mm/TIG24-24W 1650094 5INGTXL  gupipy GR7/TIG24-24W

Extra large gas lens ® 1.0mm TIG9-20-25 Alumina cup gas lens GR8 TIG24-24W
0018 0019 o015 IGFO060-10 45V0204S iy 3 &5 3% 22 4k © 1.0mm/TIG9-20-25 i® IGS0095  53N61S  pgzming GRe/TIG24-24W i

Extra large gas lens ® 1.6mm T1G9-20-25 Alumina cup gas lens GR4 TIG24-24W
MASEEE K O 1.6mm/TIG9-20-25 M & GR4/TIG24-24W

Extra large gas lens ® 2.4mm TI1G9-20-25 Alumina cup gas lens GR5 TIG24-24W
TIG9-20-25 © TIG24 |GFO060-24 " 45VB4S iy &5 3% 12 tk © 2.4mm/TIG9-20-25 i 1GS0097  S3NS9 pgzutnk GRS/TIG24-24W i

Extra large gas lens ® 3.2mm TIG9-20-25 Alumina cup gas lens GR6 TIG24-24W

IGF0060-16 45V116S 10 1GS0096 53N58

37 77777777777777777 T ”"”";;4 777777777777777777777777 .. . : IGF0060-32 9957958 Zuxﬁlgig&wlm B:rr;rr‘;/TlGiégzzi . 10 1650098 53N60 zﬁn_m GF{s/TlIGZA-;;\;leG24 o °
! 16U0033-10 P 1GU0008-05 \euonvnsruﬁ " ] \eumvoe,as ﬁ i IGF0060-40 45V63S ﬂ;;aﬁqg(gi;;g{;:’n:.omr}\lr';‘rG‘!')-ZU-H- 10 1GS0099 53N61 ﬁﬂl%nn;‘laﬁcga%?%égi.ﬂw - 10
| : 1 1 oo o GHIERSMEUY o wee s WRARAISES
o 3 o 3 e 9 s ssa0 SERIOTI IS0 1o osor e Sy AGEATO 0
| s ! 3 1 IGKOO79  53Nes  LIES SRS en e o0y TIG242AW g IGS0608  796F79 e o O a5 10
5/16-24UNF 5/16-24UNF 5/16-24UNF 5/16-24UNF 5/16-24UNF " "
1GF0060-10 Ag 16000805 u I spzaune 1OFO00505 ﬁr{ grreoe OFO00505 Ai rorne | GF000505 g I 1GS0020 57N75 /;uh;r:ngg\%cn;‘;;‘gzsézns XLGRS 10 1GS0609 796F77 gg&&%‘kﬁifﬁ%fgf&zs 10
: s ; G ! .‘ IGS0026  57N74  uTacupgasiensXLGRS 10 IGU0005-05 53N62 Gt 0.5 gas lons 11C24-24W 10
1 ! 1
I te- S E i 3 1680027 53N88 ;‘J‘;“g;cn;’n’;gﬁ%s XLGR10 10 16U0005-10 53Ne3  GRELG T gas lons 11024240 10
i i i I 1GS0028  5aNgT  puTacubgasiensXt il 10 1GU0005-16 53N64 ;"&3&1{m"&?}’fé;}fﬂﬁ“'ﬂw 10
N E i ' ' 1GS0029  53N89 ’;;';"g%j%ﬁﬁgagéj?x" GR15 10 1GU0005-24  246LC332 %"t';‘e;&zz'f’;’r‘n"r‘n?TafG‘gszA'\flz"'Z“W 10
& = = 5 ; | & e e 1GS0041  T9BFT1 e O L e 10 1GU0008-05 13N20 QL0 a% a2 10
.I : | osoorz  TserT2  RUTEACRORALTICHEL2S 0 ieuooonro e GRS ReEa0e, 10
L i -20- -20-
7777777777777777777777777777777777777 W v o SIS, :
|GS‘UDE7 1GS0068 1GS0069 1GS0065 1GS0061 |GSU“]E? ' w ’ WI 1680045 796F70 %lggn;‘na*cquRgsﬁ%glg?zgd‘zzoézs 10 IGU0008-16 13N22 ;3;?%%11 ?gﬂTﬂ‘;‘:’?Ggé%gb%zss 10
g [ d ¢y v Vv W @ o e GRS 0 e e SRS 0
: oo swen. AGIAGIIETEN o cumomos s GLSSTIIERIN "
o o 2 oo 1o50608 [ B B il 25 IGS0058  53N6OL pyiriactp 9as ene ORE TIG24-24W 10 1GU000s-10 53NTs Gt e 10
1650600 1650606 1650607 1650609 o o man -_— 1GS0059  53N61L g‘%"'“&“;@ﬁg’z‘i Chy TiG24-200 10 1GU0009-16 53N14 %"t;e;&?f;‘n"r‘nﬂ?égf;wi 10
3 ) IGS0061  13N12  pimecep OROTIS20.25 10 1GU0000-24 246icazz Gt % Z4mm MGZEZEN 10
: : csons s SpEoRSOToss ) o
o ot b b s - o o vas 1GS0065  13N11 g‘%";ﬁ“f‘c“ep,agmgg?z%_?fs 10 16U0033-10 1aN21L Gt T Onm ReS 20 10
1GS0067 13N08 Alumina cup GR4 TIG9-20-25 10 1GU0033-16 13N22L Collet ® 1.6mm TIG9-20 10

A B GR4/TIGY-20-25 AR © 1.6mm/TIG9-20

Alumina cup GR5 TIG9-20-25 Collet ® 2.0mm TIG9-20
Code - Description m Code m Descript m 1650068 13N09  pirnte o O 0 20.25 10 IGU0033-20 13N23ML e %t a0 10

cronsos et SR g en S s o crone ovzer LS R TEE LS oo NipmenoTeTo s P wossa s Bz v
orons o v SURUTTISLTON 1o o GRS o 0 e v
IGF0005-16  45V43 C"”e)‘gl;;%g?gﬁ:ﬁ}:&'ﬁ}";xf“ -24W 10 1GF0008-20  70067WT SOReBe% B 2.0mm 11692025 10 16S0077  53N24  piiace OR TIOZL AN 10 IHJ0015  41va3  phoribackcanT169-2025 10
1GF0005-20 70058 SPpeitody 9astens & 2 Onr G24-24W 10 IGF0008-24 13N2s  Gopeibody ®24mm 1392025 10 IGS0078  53N25  piinacun ORS TIOZi B 10 IHI0018  41va4  [ongpackceap T199-20-25 10

Collet body gas lens ® 2.4mm TIG24-24W Collet body ® 3.2mm TIG9-20-25 Alumina cup GR6 TIG24-24W Medium back cap TIG9-20-25

IGF0005-24  45V44 S saix © 2.4mm/TIG24-24W 10 |GF0008-32 13N29 1§32 £ © 3.2mm/TIGS-20-25 10 1680079 53N27  yampk GRe/TIG24-24W 10 IHJ0019 4135 mimigiTiGo-20-25 10
Gollet body gas lens ® 3.2mm TIG24-24W Collet body ® 0.5mm TIG24-24W Alumina cup gas lens GR4 TIG24-24W

IGF0005-32 45V45 Sgeiseigr © 3 2mm/TIG24-24W 10 IGF0009-05  53N17 45 52 ik © 0.5mm TIG24-24W 10 IGS0091  53NSBXL o ox e GRA/TIG24-24W 10
Collet body ® 0.5mm TIG9-20-25 Colletbody ® 1.0mm TIG24-24W Alumina cup gas lens GR5 TIG24-24W

IGF0008-05 13N25  gcitedy @0 Emm 116920 10 1GF0009-10 53N1s  Gopetbody ®.0mm G214 10 1650092 SINSOXL  pmimacupgasiens ORE 10

|GF0008.10  1angs  Colletbody © 1.0mm TIG9-20-25 o |GF000916 5aN1g  Colletbody ® 1.6mm TIG24-24W Alumina cup gas lens GR6 TIG24-24W

REE O 1.0mm/TIG9-20-25 FHRE O 1.6mm TIG24-24W i 1GS0093  53N6OXL gz mmk GR6/TIG24-24W 10




	TIG TORCH 25
	CONSUMABLES TIG 9-20-24-25

